Potencias de 10 (G)

9.3907 +10~!

4.8622 =101

7.8288 10!

8.9505+107!

4.6239 =101

1.1335=10""!

6.583 107!

5.1118 =101

3.9169 107"

4.5205 107!

Calcule los siguientes cocientes.

8.7614 + 107!

1.7818 = 107!

3.546 107"

9.6062 107!

7.3169 =101

1.1473 =101

7.2441 1071

2.7855= 107"

4.2437 +107!

5.0657 +107!
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Potencias de 10 (G) Respuestas

9.3907 ~ 107!
93.907
4.8622 - 107!
48.622
7.8288 = 107!
78.288
8.9505 107!
89.505
4.6239 + 107!
46.239
1.1335= 10"
11.335
6.583 = 107!
65.83
5.1118 = 107!
51.118
3.9169 107!
39.169
4.5205 =+ 107!
45.205

Calcule los siguientes cocientes.

8.7614 ~ 107!
87.614
1.7818 + 107!
17.818
3.546 107!
35.46
9.6062 107"
96.062
7.3169 + 107!
73.169
1.1473 = 107"
11.473
7.2441 =107
72.441
2.7855 107"
27.855
4.2437 +107!
42.437
5.0657 ~ 107"
50.657
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